
Aime Get an expression for

focus = P(To = n) Po(n) = P(Sn =0

We have moved

(i) Po(s) = 1 + Po(s) Fo()

(ii) polns = (h) (pg* If n even&
O otherwise

Skategy (i) Compute Po(s)

(ii) From there
, compute fo(s)









Proof of Theorem 11 (4)
First expression for P0: We have found

P0(n) =
1X

m=0

✓
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(p q)ms2m =
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(2m)!
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(p q s2)m

A binomial series: We have
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(1 + x)1/2
=
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Second expression for P0: We get

P0(s) =
1

(1� 4pqs2)1/2
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Proof of Theorem 11 (5)

Summary: We have obtained

P0(s) = 1 + P0(s)F0(s)

P0(s) =
1

(1� 4pqs2)1/2

Conclusion: We easily get

F0(s) = 1�
�
1� 4pqs2

�1/2
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Proof of Proposition 12 (1)
Expression for F0: We have seen

F0(s) = 1�
�
1� 4pqs2

�1/2

Expression for P(T0 < 1): We have also seen that

P(T0 < 1) = F0(1)

Hence

P(T0 < 1) = F0(1)

= 1� (1� 4pq)1/2

= 1� |2p � 1|
= 1� |p � q|
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Proof of Proposition 12 (2)
F0 for p = 1/2: When p = q = 1

2 we have

F0(s) = 1�
�
1� s2

�1/2

Expression for E[T0]: We have seen that

E[T0] = F 0
0(1)

Computation of F 0
0: We get

F 0
0(s) =

s

(1� s2)1/2

Conclusion: We have

E[T0] = F 0
0(1) = 1
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